MATH 116-009 QUIZ 10 / 8 Dec 2006 Name:

1. Consider the differential equation y” + ky = 0, where k is a constant. For what values of k, if any, is
y = €3 a solution? (3 points)

2. Consider the slope field shown to the right. Let y = f(z) be a solution A ‘ ‘ ‘ ‘
to the corresponding differential equation that passes through the point ! ! ! !

(0’2)' nyii\iii\iii\iii\ii
(a) Can f(x) < 1?7 Explain. N
(b) If we use Euler’s method with Az = 1.5, can our approximation P NI
to y be less than 17 Explain. 1L ! ﬁ:.i —TL 7.71_* B
(4 points) ! !
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3. Solve tz% = 3t2 4+ 4. (3 points)



